

### PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

October 20, 2016

PIAC FILE # 6595

VIA E-Mail 10 pages

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON M4P 1E4

Dear Ms. Walli:

Re: Board File No. EB-2016-0050 - Hydro One Inc.

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

We have attached the cost claim of the Vulnerable Energy Consumers Coalition (VECC) associated with its participation in the above noted proceeding. We have also directed a copy to Hydro One Inc. as well as their counsel via email.

Please note that time spent not within the specific categories was put in the other categories classification.

Thank you.

2

Michael Janigan Counsel for VECC

cc: Hydro One – Erin Henderson – Regulatory@hydroone.com

Counsel - Gordon Nettleton - gnettleton@mccarthy.ca

# Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Affidavit por	tion is signed and sworn or affirmed.		
		Instructions	
- All claims n - A separate Disbursemen However, on - The cost cla - A CV for ea	ata input is indicated by yellow-shaded fields. For nust be in Canadian dollars. If applicable, state in Rate in Research in R	exchange rate and country of coun	country: Country: of Fees Being Claimed" and a "Statement of ng student/paralegal. y's cost claim should be provided. f the party. cribed on the Cost Award Tariff.
File # EB-	EB-2016-0050	Process: Hydro One In	С.
Party:	VECC	Affiant's Name: [	Donna Brady
HST Numbe	er: 13059 2405	HST R	Rate Ontario: 3.94%
	Full Registrant Unregistered Other	Qualifyir	ng Non-Profit  Tax Exempt
		Affidavit	
I,	Donna Brady	, of the City/Town of	Ottawa
in the Pro	vince/State of Ontario	the state of the s	swear or affirm that:
2. I have exa Being Claime 3. The attack Disbursemen Ontario Ene 4. This cost of	presentative of the above-noted party (the "Party amined all of the documentation in support of the ed", "Statement(s) of Fees Being Claimed" and "Statements Being Claimed" include only costs incurred array Board process referred to above. Claim does not include any costs for work done, a sections 6.05 and 6.09 of the Board's Practice Doc of Affiant	is cost claim, including the at Statement(s) of Disbursement Claimed", "Statement(s) of F and time spent directly for the or time spent, by a person the	tached "Summary of Fees and Disbursements is Being Claimed". ees Being Claimed" and "Statement(s) of purposes of the Party's participation in the
	affirmed before me at the City/Town of	y	awa ,
in the Pro	vince/State of Ontario	, on	(date)

Commissioner for taking Affidavits

# Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

File # EB-	EB-2016-0050		Process: Hydro One Inc.	
Party:	VECC			
	Sur	nmary of Fee	es and Disbursements Being Claimed	
Legal/con	sultant/other fees	\$	9,424.00	
Disbursen	nents	\$	26.55	
HST		\$	371.31	
Total Cost	Claim	\$	9,821.86	

## **Payment Information**

Make cheque payable to: Public Interest Advocacy Centre

Send payment to this address: 1204-ONE Nicholas Street

Ottawa, ON

K1N 7B7

## **Ontario Energy Board**





## **Detail of Fees and Disbursements Being Claimed**

File # EB-	EB-2016-0050		Process: H	lydro One Inc.		
Party:	VECC	Service Provider Name		Michael Janigan		
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar		Completed Practising/Years Experien	of Relevant
	Legal Counsel		1980		35	
	Articling Student/Paralegal Consultant Analyst				Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	hed ded within previous		arged (enter %):	3.9%

St	atement o	of Fe	es Being	Cla	imed		
	Hours	Но	urly Rate	1	Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$		\$ _	\$ -
Attendance		\$	330.00	\$	-	\$ -	\$ 
Technical Conference							
Preparation		\$	330.00	\$		\$ -	\$ 
Attendance		\$	330.00	\$	-	\$ -	\$ 20
Interrogatories							
Preparation		\$	330.00	\$		\$ -	\$ (*)
Responses		\$	330.00	\$	-	\$ -	\$ ·
Issues Conference							
Preparation		\$	330.00	\$	_	\$ - 1	\$ 
Attendance		\$	330.00	\$	-	\$ 	\$ 42
ADR - Settlement Conference							
Preparation		\$	330.00	\$	-	\$ -	\$ -2
Attendance		\$	330.00	\$	Ħ	\$ 7	\$ 70
Proposal Preparation	N = 2016-1	\$	330.00	\$	-	\$ 2	\$ *
Argument			74				
Preparation	6.5	\$	330.00	\$	2,145.00	\$ 84.51	\$ 2,229.51
Oral Hearing							
Preparation	2.2	\$	330.00	\$	726.00	\$ 28.60	\$ 754.60
Attendance	2.7	\$	330.00	\$	891.00	\$ 35.11	\$ 926.11
Other Conferences							
Preparation	1.4	\$	330.00	\$	462.00	\$ 18.20	\$ 480.20
Attendance	Hy-res	\$	330.00	\$	-	\$ 1. <del>-</del>	\$ (5)
Case Management		\$	170.00	\$		\$ 7	\$ -
TOTAL SERVICE PROVIDER FEES				\$	4,224.00	\$ 166.43	\$ 4,390.43

Michael Janigan
Janigan Professional Corporation
c/o Public Interest Advocacy Centre
1204-ONE Nicholas Street
Ottawa, ON
KIN 7B7

#### STATEMENT OF ACCOUNT

October 19, 2016

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re:

EB - 2016-0050 - Hydro One Inc.

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$330.00 per hour

To receipt, review, and attending on behalf of VECC in the above-noted proceeding.

July 2016 to October 2016

TO: Hours

12.8 Hours @ \$330.00 per hour

HST @ 13%

4,224.00

549.12

TOTAL AMOUNT DUE AND OWING:

\$ 4,773.12

Michael Janigan Janigan Professional Corporation - 831059738

#### TraxTime report for Michael Janigan created 10/19/2016 05:52 PM

Monday, July 11, 2016 - Total 1.4 in: 10:11p out: 10:58p 0.8 6595 GLPTMAAD review Merger Handbook in: 11:21p out: 11:55p 0.6 6595 GLPTMAAD read Arg-in-Chief

Tuesday, July 12, 2016 - Total 2.6 in: 12:57p out: 3:30p 2.6 6595 GLPTMAAD read evidence and teleconference with intervenors and review file

Wednesday, July 13, 2016 - Total 3.1 in: 6:21p out: 8:53p 2.5 6595 GLPTMAAD read evidence and Garner notes in: 9:49p out: 10:22p 0.6 6595 GLPTMAAD review Merger Handbook and prep submissions

Thursday, July 14, 2016 - Total 4.3 in: 6:31a out: 8:06a 1.6 6595 GLPTMAAD review notes and evidence in: 9:30a out: 12:10p 2.7 6595 GLPTMAAD attend at hearing and make submissions

Monday, July 18, 2016 - Total 0.8 in: 7:07p out: 7:57p 0.8 6595 GLPTMAAD read reply submissions

Thursday, October 13, 2016 - Total 0.6 in: 8:09p out: 8:43p 0.6 6595 GLPTMAAD read Decision and emails

Totals From Friday, January 01, 2016 To Wednesday, October 19, 2016
12.8 6595 GLPTMAAD
12.8 Total

# Ontario Energy Board COST CLAIM FOR HEARINGS



## **Detail of Fees and Disbursements Being Claimed**

File # EB-	EB-2016-0050	16-0050 Process: Hydro One  Service Provider Name:	nc.		
Party:	VECC	Service Prov	rider Name:	Michael Janigan	

	Ne	Net Cost			Total
Scanning/Photocopy	\$	26.55	HST	\$	26.55
Printing				\$	
Courier				\$	-
Telephone/Fax				\$	
Transcripts				\$	194
Travel: Air			TELESTIC .	\$	( <b>-</b> )
Travel: Car	By the say the			\$	
Travel: Rail				\$	1.0
Travel (Other):	Carried Market State of Land Co.			\$	-
Parking				\$	n <del>u</del> r
Taxi	AN PROPERTY.		RENER	\$	-
Accommodation	A STATE OF THE STA			\$	
Meals				\$	-
Other:				\$	- 1
Other:				\$	幾
Other:				\$	; <u>.</u>
TOTAL DISBURSEMENTS:	\$	26.55	\$ -	\$	26.55

#### **Donna Brady**

Subject:

FW: HO-GLPT MAAD

Attachments:

Labelled dockets HO-GLPT.pdf; MJDockets.txt

From: Michael Janigan [mailto:mjanigan@piac.ca]
Sent: Wednesday, October 19, 2016 6:04 PM

To: Donna Brady

Subject: HO-GLPT MAAD

Here are my dockets. 177 photocopies please.

Michael Janigan Special Counsel Regulatory and Consumer Affairs Public Interest Advocacy Centre (PIAC) ONE Nicholas Street, Suite 1204 Ottawa, ON K1N7B7, Canada www.piac.ca O. 15 x 177 = 26.55

# Ontario Energy Board COST CLAIM FOR HEARINGS



## **Detail of Fees and Disbursements Being Claimed**

File # EB-	2016-0050		Process: H	lydro One GLP			
Party:	VECC		Service Provider Name: Mark Garner				
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experier	of Relevant		
	Legal Counsel			28			
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$325		
	For Consultant/Analyst:	CV attac	hed	HST Rate Charged (enter %):	3.9%		
		✓ CV prov	ided within previous	s 24 months			

St	atement c	of Fe	ees Being	Cla	imed		
	Hours	Но	urly Rate		Subtotal	HST	Total
Pre-hearing Conference						- 1	
Preparation		\$	325.00	\$	-	\$ -	\$ -
Attendance		\$	325.00	\$	570	\$ -	\$ -
Technical Conference							
Preparation		\$	325.00	\$	2	\$ -	\$ -
Attendance		\$	325.00	\$		\$ 2	\$ 
Interrogatories							
Preparation	6.0	\$	325.00	\$	1,950.00	\$ 76.83	\$ 2,026.83
Responses	2.5	\$	325.00	\$	812.50	\$ 32.01	\$ 844.51
Issues Conference							
Preparation		\$	325.00	\$	-	\$ 2	\$ -
Attendance		\$	325.00	\$	-	\$ -	\$ ( <u>@</u> )
ADR - Settlement Conference							
Preparation		\$	325.00	\$	-	\$ -	\$
Attendance		\$	325.00	\$	-	\$ 8	\$ -
Proposal Preparation		\$	325.00	\$		\$ 2	\$ 226
Argument					3		
Preparation	7.0	\$	325.00	\$	2,275.00	\$ 89.64	\$ 2,364.64
Oral Hearing							
Preparation		\$	325.00	\$	9	\$ -	\$ 5.
Attendance		\$	325.00	\$		\$ -	\$ 40
Other Conferences							
Preparation		\$	325.00	\$	-	\$ 	\$ -1
Attendance	0.5	\$	325.00	\$	162.50	\$ 6.40	\$ 168.90
Case Management		\$	170.00	\$	-	\$ 7.5	\$ ÷
TOTAL SERVICE PROVIDER FEES				\$	5,200.00	\$ 204.88	\$ 5,404.88

## **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# **Statement of Costs**

Date	File #
14/10/2016	2016066

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	EB-2016-0050

Hydro One GLP									
Item	Description	Hours	Rate	Amount					
Interrogatories Preparation	Interogatories/review	6	325.00	1,950.00					
Interrogatories Responses	Review interrogatory	2.5	325.00	812.50					
Other Conferences Attendance	on need for TC (not held) Teleconference among intervenors to discuss positions and coordinate arguments/confer	0.5	325.00	162.50					
Argument Preparation	Draft argument notes and compendium of evidence for MJ to consider for oral	7	325.00	2,275.00					
	Subtotal HST on Sales		13.00%	5,200.00 676.00					
	Interrogatories Preparation Interrogatories Responses Other Conferences Attendance	Interrogatories Preparation Interrogatories Preparation Interrogatories Responses Interrogatories Responses  Other Conferences Attendance  Argument Preparation  Description  Interogatories/review application/notes Review interrogatory responses/notes/confer with MJ on need for TC (not held) Teleconference among intervenors to discuss positions and coordinate arguments/confer with MJ Draft argument notes and compendium of evidence for MJ to consider for oral argument/discuss with MJ Subtotal	Interrogatories Preparation Interrogatories Preparation Interrogatories Responses Interrogatories Responses Interrogatories Responses Review interrogatory responses/notes/confer with MJ on need for TC (not held) Teleconference among intervenors to discuss positions and coordinate arguments/confer with MJ Argument Preparation  Description Hours  6 application/notes 2.5 responses/notes/confer with MJ on need for TC (not held) Teleconference among intervenors to discuss positions and coordinate arguments/confer with MJ Draft argument notes and compendium of evidence for MJ to consider for oral argument/discuss with MJ Subtotal	Interrogatories Preparation Interrogatories Preparation Interrogatories Responses Interrogatories Responses Interrogatories Responses Review interrogatory responses/notes/confer with MJ on need for TC (not held) Teleconference among intervenors to discuss positions and coordinate arguments/confer with MJ Argument Preparation  Description Hours 6 325.00 325.00 7 325.00 7 325.00 7 325.00 7 325.00					

HST #10160 6028	\$676.00
Total	\$5,876.00